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General Instructions :

(1)

(i1)
(iii)

(iv)

(v)

(v)

Question paper contains 37 questions. All questions are compulsory.
Question paper comprises six Sections — A, B, C, D, E and F There are

37 questions in the question paper.
Section A — Question nos. 1 to 20 are MCQs of 1 mark each.

Section B - Question nos. 21 to 24 are Very Short Answer Type
Questions, carrying 2 marks each. Answer to each question should not

exceed 40 words.

Section C - Question nos. 25 to 29 are Short Answer Type Questions,
carrying 8 marks each. Answer to each question should not exceed 60

words.

Section D — Question nos. 30 to 33 are Long Answer Type Questions,
carrying § marks each. Answer to each question should not exceed 120

words.

Section E — Question nos. from 34 to 36 are Case Based Questions with

three sub questions and are of 4 marks each.

(vit) Section F — Question no. 37 is map based, carrying 5§ marks with two

parts, 37 (a) from History (2 marks) and 37 (b) from Geography (3 marks).

(viit) There is no overall choice in the question paper. However, an internal

(ix)

32/6/3

choice has been provided in a few questions. Only one of the choices in

such questions have to be attempted.

In addition to this, separate instructions are given with each section and

question, wherever necessary.
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SECTION - A
(Multiple Choice Questions) (20 x 1 =20)

1.  Which one of the following is a major benefit to a local company which

goes for joint production with an MNC ? 1
(A) MNC provides Money and Technology to local company.

(B) MNC takes all decisions to reduce burden of local company.

(C) MNC purchases all shares of local company for faster production.

(D) MNC might ask for labour and capital investment from local

company.
2. Which one of the following pairs is correctly matched ? 1
(A) Primary Sector —  Money Lender
(B) Secondary Sector —  Priest
(C) Tertiary Sector — Bank
(D) Manufacturing Sector —  Gardener
3.  Which one of the following is an activity of the unorganized sector ? 1

(A) A teacher teaching in a school.
(B) A worker going to work in a big factory.
(C) A doctor treating patients in a hospital.

(D) A daily wage labourer working under a contractor.
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4.  Who among the following takes the decision regarding saving and loan

activities in the Self Help Groups (SHGs) ? 1

(A) Manager of a Bank

(B) Members of Non-Governmental Organisation (NGO)

(C) Local Money Lenders

(D) Members of Self-Help Group (SHG)

5. Consider the following statements on Power sharing and choose the

correct option. 1

I. Imposing the will of majority community over others.

II. It helps in reducing the possibility of conflict between the social

groups.

III. Power sharing is a good way to ensure the stability of political order.

IV. It brings socio-political opposition among parties.

Options :
(A) TandIII (B) 1II and III
(C) TandIV (D) TandII
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6. Two statements are given in the question below as Assertion (A) and

reason (R). Read the statements and choose the correct option.

Assertion (A) : Political Parties are important in the functioning of
democracy.

Reason (R) : The media plays an important role in the making of
Political Parties.

Options :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of
(A).

(C) (A) s true, but (R) is false.

(D) (A) is false, but (R) is true.

7. Match Column — A with Column — B and choose the correct option.

(Subjects)

I.  E-Programming
II.  Police
III. Education
IV. Defence
Options :

I II
Aa 4 3
B 3 4
© 4 1
O 4 2

32/6/3

Column - A

Column -B
(List)

1. Concurrent List

2. Union List
3.  State List
4. Residuary List
I11 v
1 2
1 2
3 2
1 3
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8. frAferfaa o § @ foreti weh oefia saeen 2 7
A) =
(B) W
(C) TifeREam
(D) TR

9. fr=ferfaa wemi i ufeu 37t T2 fohea &1 ==F HifsT :
I wRd ¥ %K srferekies o T ] |
II.  HYeRi 1 379 & I T, TaR 37T S7=TE Hid 6 a2 |
II1. TST FgER shi 3eh gRI =elTs 911 T 318701 Seeri o1 Heradr 3o Hee hidl € |
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forea :
(A) I, II3MRIII B) I II3IRIV
(C) 1II, III 3ARIV (D) I, III 3R IV

10. Fr=foafan 5 & form o1 1 TE H6G H AfEansti 1 Siaf-iee de9 311 7 ?
A) &4
(B) sregferan
(©) e
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32/6/3



8.  Which one of the following countries have One Party System ? 1

(A) China (B) India
(C) Pakistan (D) America

9. Read the following statements and choose the correct option : 1
I.  There is no official religion in India.

II. Communities have freedom to profess and practice their religion.

III. State helps communities by giving aid to educational institutions run

by them.

IV. India believes in theocracy.

Options :
(A) T,1I and TII ®B) I,IIand IV
(C) II,III and IV (D) I, III and IV

10. Which one of the following countries has the highest representation of

women in their National Parliament ? 1
(A) Russia

(B) Australia

(C) Sweden

(D) India
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12. fr=ferfad 4 9 fram agen gmafes gamm-u= ‘S Tere’ fepen ?

A)
B)
©)
D)

fofm I o=
e TR foereh
TR grrmd
TS THHTEA T

13. 1840 ¥ 1860 & o= 3ieis A tord o farear & @y fFefefaa 34 @ 9w s =qn 7

A4)
B)

ST 3R 39T
S[E 3R U™

(C) vegfufay 3R SfewTse

D)
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11. Match the following and choose the correct option.
(Leader) (Role)
(a) Victor Emmanuel II I.  Chief Minister of Italy
(b) Guiseppe Mazzini II. Young Italy Movement
(¢) Guiseppe Garibaldi III. Conquered the Kingdom of Sicillies
(d) Count Cavour IV. Proclaimed as king of Unified Italy
@) (b) (© (d)
A) I IAY I11 IT
B I I v 11
© 1V II I11 I
O 1 v IT I1I1
12. Who among the following brought out ‘Bengal Gazette; the first weekly
newspaper ?
(A) Bipin Chandra Pal
(B) Bal Gangadhar Tilak
(C) Gangadhar Bhattacharya
(D) Raja Rammohan Roy
13. Which of the following industries increased with the expansion of railways
in England from 1840s to 1860s ?

A4)
B)
©)
D)
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Iron and Steel

Jute and Cotton

Aluminium and Bauxite

Copper and Steel
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@) T (B) =1
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W - A w9 -B
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farerea

I II III v
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14. Why did Europeans flee to America in 19th century ? Identify the correct

reason from the following options :

A4)
B)
©)
D)

Poverty and diseases

Due to gold rush

To escape from the French Revolution
As an aftermath of the Vietnam War

15. Identify the Crop with the help of the following information and choose

the correct option.

. This is the staple food crop.

. This is a Kharif crop.

. It requires high temperature and high humidity.

o It requires above 100 cm of annual rainfall.

Options :

A)
B)
©)
D)

16. Match the Column — A with Column — B and choose the correct option :

Wheat
Maize
Rice

Jwar

Column - A

(River)

I. Mahanadi
II. Narmada
III. Chambal
IV. Chenab
Options :

I II
(A) 4 3
B) 3 4
©) 2 1
D) 1 2
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- W D

III

W B~ = DN

Column - B
(Dam)
Sardar Sarovar
Hirakud
Salal

Rana Pratap Sagar

IV

A~ W N =
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17. Fraforfga 3 & &9 o gm gafaa 2 2
Q) veg gt ufved Ter™
(B) el gl I HeH
©) 7= gt Gefehl 1 Y31

(D) <zt ufyerfieme

18. Frferfaa wwenstt & & o  “fova foepm faid” Sam et 2 7
@A) fwrads

(B) ST g1 HIW

(C) T womees gieq

(D) FAUET 1 TS

19. fr=faRaa d @ ifa s i qeed! awenr tere wF €t off 7
(A) ST A=
B) frates smm
(C) Terafaamera 3geH 3

(D) T ek BT 3T
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17. Which of the following pair is correctly matched ? 1
(A) Alluvial Soil  Western Rajasthan
(B) Black Soil Northern Plain
(C) Arid Soil Deccan Plateau

(D) Laterite Soil ~ Western Ghats

18. Which one of the following organizations prepares the ‘World

Development Report’ ? 1
(A) World Bank
(B) International Monetary Fund

(C) World Health Organisation

(D) International Labour Organisation

19. Which one of the following is the preceding Government Agency of NITI

Aayog ? 1
(A) Planning Commission

(B) Election Commission

(C) University Grants Commission

(D) Union Public Service Commission

32/6/3 {11 > P.T.O.



20. #M <fifoe for vk wre & ° =) ufEr 2 | 3fe 39 uier i 3= A 26,000,

21.

22.

23.

24.

N

% 4,000, T 7,000 3R T 3,000 & 1 38 &1 <hY 37Ed 31 =41 B 7 Hel foehed w1 ===

i | 1
(A) % 5,000
B) 3,000
(C) 2,000
(D) 6,000

Qs - | (4x2=28)

(efa erg—3rdia )

1815 st “feran wfer’ o fop=gi <) 329l 1 Seorg HIfvTT | 2
Trior &5 | 37freR USR8 Uet ford ST Hehd 8 7 3erewur afga w8 Hifs | 2
fg-aofia syawe 6 feneel € ferdtwanatt < v HIfvT | 2

(a) FY % Imgfrehier & fu wra @R grr fehe T feredl <1 sl <t =T
SHifST | 1x2=2

A

(b) TNt I kg T Feregil < ferranai <At same HifTe | 1x2=2
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20.

21.

22.

23.

24.

Assume there are four families in a locality. If the income of each family is

% 6,000, ¥ 4,000, ¥ 7,000 and T 3,000 then find out the average income of

the locality from the following options : 1
(A) 5,000 B) 3,000
(C) T2,000 D) 6,000
SECTION - B

(Very Short Answer Type Questions) (4x2=218)
Mention any two objectives of the ‘Treaty of Vienna’ of 1815. 2
How to create more employment in rural areas ? Explain with examples. 2
Examine any two features of Bi-Party system. 2

(a) Explain any two efforts taken by the Government of India to

modernise agriculture. 1x2=2

OR

(b) Explain any two features of Rabi cropping season. 1x2=2

32/6/3 P.T.O.
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28. sfesrm TR gy e fafirsaret § amere wfia o & o forg e o=l o samt
&1 ST HIT | 3
29. (a) TH YH I AR 1 hed & ? T HIY | 3
T
(b) Tk 3T forepa T UitergT o Texa 61 == HIfy | 3
T ug - | (4 x 5=20)
(Sret -3 T9)
30. (a) oAl TRHR bl I TIHR FAT AT AT 2 ? AT HITY | 5
AT
(b) TTTSITE TR 1 o1 H AlhdilNeh TR fohd TR Sga & ? TIT T | 5
31. (a) ot T % 3PN TGO kT HE HT fRAT ST Tk B ? IO @l =R
HIT | 5
PC|
(b)  “fereht T3 <A1 amfefes wifvr (Safa) fafamior Seiem & faerma @ ol St 2 17 e
g ST HIfT | 5
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SECTION - C

(Short Answer Type Questions) (b5x3=15)

“By the end of 19th century a new visual culture took shape in India.”

Explain the statement with examples.

Why is the issue of sustainability important for development ? Explain

with examples.

Explain any three terms of Credit.

Explain any three steps taken by the Belgium government to

accommodate regional differences.

25.
26.
27.
28.
29. (a)
(b)
30. (a)
(b)
31. (a)
(b)
32/6/3

Why do we call Tourism as a Trade ? Explain.
OR
Explain the importance of Transportation in the economic

development of the country.

SECTION -D

(Long Answer Type Questions) (4 x5=20)

Why is Democratic Government considered as Legitimate
Government ? Explain.

OR
How is Democracy a better form of government in comparison to

dictatorship ? Explain.

How can the industrial pollution of fresh water be reduced ? Explain
with examples.

OR
“The economic strength of a country is measured by the development

of manufacturing industries.” Explain with examples.

@ P.T.O.
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32. (a) Respect and equal treatment to women are necessary ingredients in
a democratic society. Support the statement with examples. 5
OR
(b) ‘Democracy transforms people from the status of a subject into that
of a citizen.” Support the statement with examples. 5

33. (a) ‘Globalisation is a multi-dimensional concept.” Examine the

statement. 5
OR
(b) Examine the steps taken by the developing countries to attract
foreign investment. 5
SECTION - E Bx4=12)

(Case Based Questions)

34. Read the given source and answer the questions that follow : 4

DECENTRALISATION IN INDIA

This new system of local government is the largest experiment in
democracy conducted anywhere in the world. There are now about 36 lakh
elected representatives in the panchayats and municipalities etc., all over
the country. This number is bigger then the population of many countries
in the world. Constitutional status for local government has helped to
deepen democracy in our country. It has also increased women’s
representation and voice in our democracy. At the same time, there are
many difficulties. While elections are held regularly of Panchayats and
people participate enthusiastically in it but meetings of gram sabhas are
not held regularly.
(34.1) Why 1is Indian decentralisation considered as the largest
experiment in democracy ? 1
(34.2) Analyse how constitutional status for local government has helped
to deepen democracy in India ? 1
(34.3) Explain any two steps taken by the Indian Government for

decentralisation. 2
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35. feuw u Eid =i ufeu 31t 35 = few wodi o1 3o ferfigu
Srenfires foermm

stadf 9t % Tge Uk qeh WRA H SR *T &l %3 agardi i U H 3
THT U7 | TeH Tgiad wi fa fem @ wgarfeat 1 @M wt fagsht U &
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forfest @™ a1 At STl 1 90 A 6 fow Ig Faeft IedTed § o 9 gEfe 9y A
BTt h T ST 3TRITA ShH &1 7T | RN TSI bl TaRTd Teh foremer ¢eft sTeie firet
T | g S e a1 A tE R § oft wie % fore s Y sifat, wife % faw adi
% IS, 02 3TN THS & T, Ul 9 TR <hl S qT 5gd TR 31 TTHH S o | ¢
HRGT T T |

IO HREM s el § Io Tl | 9gd 91 A ASGU I I T 1T T 3R & Bl
gl o off SATET T qeh HBTH HLAT USAT AT | g b I ST AT dsit § 97 |

(35.1) ACRIT TG 1 T ?
(35.2) A H Hil UL 1 3cded 1900 § 1912 o S A1 &1 &1 T 2

(35.3) foredl < wre1ati Y =amen i f=iH WIRa 1 I3: S8R W6 & § ggrmat
i ?
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35. Read the given source and answer the questions that follow : 4
INDUSTRIAL DEVELOPMENT

By the first decade of the twentieth century a series of changes affected the
pattern of industrialization in India. As the swadeshi movement gathered
momentum, nationalists mobilised people to boycott foreign cloth. Industrial
groups organised themselves to protect their collective interests, pressurising
the government to increase tariff protection and grant other concessions.
From 1906, moreover, the export of Indian yarn to China declined since
produce from Chinese and Japanese mills flooded the Chinese market.
So industrialists in India began shifting from yarn to cloth production.

Cotton piece goods production in India doubled between 1900 and 1912.

Yet, till the First World War, industrial growth was slow. The war created
a dramatically new situation. With British mills busy with war production
to meet the needs of the army, Manchester imports into India declined.
Suddenly, Indian mills had a vast home market to supply. As the war
prolonged, Indian factories were called upon to supply war needs : jute
bags, cloth for army uniforms, tents and leather boots, horse and mule
saddles and a host of other items. New factories were set up and old ones
ran multiple shifts. Many new workers were employed and everyone was
made to work longer hours. Over the war years industrial production

boomed.
(35.1) What was the Swadeshi Movement ? 1

(35.2) Why did the Cotton piece goods production in India double
between 1900 to 1912 ? 1

(35.3) Explain any two events that helped India to regain its market. 2
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36. feuw T w1 ufeu 3tk 36 e few me oAt o 3o fafaw | 4
TER 3R ERer

I EEET Shi Fferat N <1 § hIE 1S 91 T8l & | §9 HAHAR 9 3H o1 & A & fob o
FAR <X | 5 WS YTfera] o TarE off € | 9 & B &1 H 91 L aqes Thi
FferenTiE % T iRt ST STETE Tell % e # 5 ¢ it $E & Al A
ST STATIhRATST 6! I(d &1 Thll & | AT 51d F5Td | TSR o Tal o AR 9
St weeror Srffem & d8d 98T § @ wE o HEH % 0 FeRd § | %S & 0
AT T 5= e AT 9 1o o T8 8 3T Teh™ 3h1 3T & graary oft weherr 78 vt @
F | TSTEYT™ o JreteR et § 5 Tiielt o @il 3 4l 1,200 g o fe Siiee grepe @il
oifya s & fores 3 €t fram e 2 < e afSia e 8 e aredt <t <6 gt
B T & g Sfe ol S 8 |

(36.1) o GHEHE ¥ Hd T 8 ? 1
(36.2) ‘I Sfia TRerv AT’ < 3evd 1 ST HIfT | 1
(36.3) o= Ml % eV % AU THEE FFd YRR T H @ § 7 IEW Higd WY
HIT | 2
e - = (2 +3=15)
(i Stenfa TeA)

37. (a) YRA < feU T MR W@T-HHfEE WSl &IHT (A) 3R (B) i 3ifeha frm mn 2 |
§ TS ARRT 31 FERAT § 375 TEaTHT, TR 3eh ITH Wi 7T [@I3HT T 37 Hat
g fefee | 2
(A) T8 I & 1927 T YA TR HIUG 6T ST g1 o7 |
(B) 9% T ST wgTedt Meft = Tk T qrer o7 |
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36.

37.

Read the given source and answer the questions that follow :
COMMUNITY AND CONSERVATION

Conservation strategies are not new in our country. We often ignore that
in India, forests are also home to some of the traditional communities. In
some areas of India, local communities are struggling to conserve these
habitats along with government officials, recognising that only this will
secure their own long-term livelihood. In Sariska Tiger Reserve,
Rajasthan, villagers have fought against mining by citing the Wildlife
Protection Act. In many areas, villagers themselves are protecting
habitats and explicitly rejecting government involvement. The
inhabitants of five villages in the Alwar district of Rajasthan have
declared 1,200 hectares of forest as the Bhairodev Dakav ‘Sonchur?,
declaring their own set of rules and regulations which do not allow
hunting, and are protecting the wildlife against any outside

encroachments.

(36.1) How are forests related with Communities ?
(36.2) Explain the aim of ‘Wildlife Protection Act.

(36.3) How are communities working for the conservation of Wildlife ?
Explain with example.

SECTION - F

(Map Based Questions) 2+3

(a) Two places (A) and (B) have been marked on the given political outline
Map of India. Identify them with the help of given information and
write their correct names on the lines drawn near them.

(A) The place where Indian National Congress Session was held in
1927.

(B) The place where Mahatma Gandhi broke Salt law.

5)
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(b) WRA 3 TE a1 AR W Frefaa § @ Rl dm w we e g sitea
T 7R 3% 7 feafare 3
(i)  sfeu e sl TagsTE
(i)  SPTHUIRT AT Sl HI
(iii) BEUSTE TR Srenfieh qreh

(iv) IS YL qTH

e : Frafefaa gv wae givenfia wlenfof & U am den 37 FWHWE L (5 x 1=5)
fer=gi ufar w1 o I Tty |

(37.1) 38 T 1 A ferRae sraf vl wgi e srfeaye 1927 W ger e | 1
(37.2) 3| T &1 A fetfaw et wateat mieft 3 THeh T qreT o | 1
(37.3) 38 W& 1 A forRa el sfex mieh sreiga gas srg fa 2 | 1
(37.4) 39 TST 1 19 fARaT ST Hreptramr qeam] T fra 2 | 1
(37.5) 3| T=T 1 T fafay <&t fetree Higeaaw Saiersi ureh fra 2 | 1
(37.6) 3| U 1 19 feaRaw sret shreer Tyl we= fRra 7 | 1
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(b) On the same outline Map of India locate and label any three of the
following with suitable symbols. 3
(1) Indira Gandhi International Airport.
(1) Kakrapara — Atomic Power Station.
(i11) Hyderabad — Software Technology Park
(iv) Kandla Sea Port

Note : The following questions are for the Visually Impaired

Candidates only in Lieu of Q. No. 37. (5x1=5)

Attempt any five questions :

(37.1) Name the place where the session of Indian National Congress

was held in 1927. 1
(37.2) Name the place where Mahatma Gandhi broke the Salt law. 1
(37.3) Name the city where Indira Gandhi International Airport is

located. 1
(37.4) Name the State where Kakrapara Nuclear plant is located. 1
(37.5) Name the State where Hyderabad Software Technology park is

located. 1
(37.6) Name the State where Kandla Sea Port is located. 1
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